[ prevost

Kit of screws and nuts for panel mounting

7.

)N
il P
A (" {\

// .

).

/B

).

" [
[ ("'
!

Highlight

Workstation ergonomics

Includes

Kit comprising: - 4 M10x20
screws - 2 M10 nuts - 2

captive M10 nuts

Description

Reference Includes

Kit comprising: - 4 M10x20 screws - 2 M10 nuts - 2 captive
PLA VEGM
M10 nuts

Kit comprising: - 2 M8x20 mm screws - 1 M8 nut - 1 captive
PLA VEPM V8 nut
nu

Kit comprising: - 12 M6x20 mm rectangular head screws - 12

PLA VEAF M6 nuts for mounting an accessory. a wall fitting and an ALTO

assembly

Kit of screws and nuts: - 4 M6x20 mm screws - 4 M6 nuts

PLA VEWF

Prevost CORP - 74 Brookfield Oaks Drive, Ste. 3 - Greenville, SC 29607
Tel: +1 (800) 845-7220 - Email: sales.corp@prevostusa.com - www.prevostusa.com



[ prevost

Prevost CORP - 74 Brookfield Oaks Drive, Ste. 3 - Greenville, SC 29607

Tel: +1 (800) 845-7220 - Email: sales.corp@prevostusa.com - www.prevostusa.com



